fc"?'llﬁﬁﬁ‘- L Tl 1A
IamFE 51’:”“117\75"'\',2024&19
B Rl 2024 & 2 *

40 fé—
% 2F%: P4
J(xt) = 2n(xt)E( x.1) - nkBCTe aa n(x.1). (2-3a)
_kB_T ]
== (2-3b)

S 473 (2-1)fr(2-30)7) 2 - B 2 A A2 KFET S B 4 IR n(Xt), Ot I E(X).

% 3%: PT
AX n2
FERS . — 2 g 2 _
R N2 =Ny (Ax - L) >Ny n (—Ax - L) (3-6a)
N1 < Nic (3-6b)
Bl mEmea)t<m 2oy e (3-72)
o AX+L N~ ‘AX+L
N1 > N1c (3-7b)
% 3F: P8
na/n1 ¥ nq B W 2 [(3-8a), (3-8b)]&E T 7 3-2 Bl ¥ .
3-2 @l
N2 22 ny B %8 4 [(3-8a), (3-8b)]%E 7 % 3-3 M ® .
3-3 @
% 3F: PO
3-4a Bl and 3-4b B]: %idh: Veg(mV) -> Vipe(MV)
% 3%: P10
3-5a Bl and 3-5b B]: %idh: Veg(mV) -> Vipe(MV)
% 43%: P15
Vext = - f “AXAE(X) (4-2b)

#-(4-1a), (4-1b) & » (2-1)4-(2-3), * & * = 42 (3-1a), (3-1b), 2 i 17 3]
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% 43%: P16
Je(0) = Je(L) = Je. (4-4¢)
$195 2% 2 Vo (= - Eoal) & # (4-4D), 5 i % 10T #8811 8 0.

¥ 4% PAT:

D EHHATH B (2-3b).

Ta— B@EDHFEEA Y 5 20q BEFT UL D TR R
<n>enfc A F 7ok fTA 4 ooleq. 4-6e] ¥ L H A

Oo — 0)p2T (5-59)
% 5%: P22
Vac(t) = Ve + Veff(t) (5-10b)

5-2 B AEor 1 i b, ()] P AT ek e Vea() A 2 0 J(0), 5857 e (b) Bl Ver(t)4r
OB *TF. TFTET ML Epilie a5l AP
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